
 "לא זה ולא זה"ו, זוגיות-אי, מקרים מעניינים של זוגיות
 

𝒇(𝒙) .א = 𝒍𝒐𝒈 (𝒙)  כי אם, "לא זה ולא זה"היא מקרה מובהק של  𝐥𝐨𝐠 (𝒙)  קיים,  𝐥𝐨𝐠 (−𝒙)  אינו קיים. 
 
 

𝒇(𝒙) .ב = 𝒍𝒐𝒈 (�𝒙𝟐 + 𝟏+ 𝒙) זוגית-היא אי: 

𝒇(−𝒙)  =  𝒍𝒐𝒈 ��(−𝒙𝟐) + 𝟏 + (−𝒙)�   =   𝒍𝒐𝒈 ��𝒙𝟐 + 𝟏 − 𝒙�   =   𝒍𝒐𝒈 ���𝒙𝟐 + 𝟏 − 𝒙� ∙
�𝒙𝟐 + 𝟏 + 𝒙
�𝒙𝟐 + 𝟏 + 𝒙

� = 

=  𝒍𝒐𝒈�
𝒙𝟐 + 𝟏 − 𝒙𝟐

√𝒙𝟐 + 𝟏 + 𝒙
�   =   𝒍𝒐𝒈 �

𝟏
√𝒙𝟐 + 𝟏 + 𝒙

�   =   −𝒍𝒐𝒈��𝒙𝟐 + 𝟏 + 𝒙�  =  −𝒇(𝒙) 

𝒇(𝒙) .ג = −𝟐 ∙ 𝒍𝒐𝒈 (|𝒙|)  היא זוגית: 

𝒇(−𝒙)  =  −𝟐 ∙ 𝒍𝒐𝒈(|−𝒙|)   =  −𝟐 ∙ 𝒍𝒐𝒈(|𝒙|)  =  𝒇(𝒙)      


